
Securing cargo. We invented the concept.

80
08

67
 D

  

Bandstyrning TU / Strap guide TU / Bandesteurung TU

Bankemonterad / Bunk mounted / Schemelkörper montiert          

Part No. 800867



BezeichnungDescriptionBenämningArt.nrPos.
MontageplattaMounting plateInfästningsplåt bandstyrning HD TU4208651
FührungsplatteGuide plateStyrplåt bandstyrning HD TU4208682
ScheibeWasherBRICKA BRB M8 FZB2119003
SicherungsmutterLocking nutLåsmutter LM6M låg M8 FZB2118554
SchraubeScrewSkruv M6S M12x170 FZB2111035
SchraubeScrewSKRUV M6S M8x30 FZB2110436

Securing cargo. We invented the concept.

80
08

67
 D

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Bankemonterad / Bunk mounted / Schemelkörper montiert 

Page 2 

Vikt/ Weight: 0,7 Kg
 

123

(146)

(9
6)

(111)

13

5
3

4

2

1

3

A

A

Styrplåten är vändbar för montering 

på vänster resp. höger sida.

 

A

The Guiding plate is reversible for 

mounting on the left or the right side.

 

A

Die Führungsplatte ist wendbar für die

Montage auf der linken oder rechten 

Seite.

25 Nm

80 Nm


